IV. JUMGUBRL GNLOUNUNARME3NMLLELE hAUUULUSUTL SLRULULELELNMY UUSNRSUNA, LAUSNFShY
ounusnker3NrLLGLL UTUUUGLE*

ounusnrMe3vL Ssuuup UNUhURNL Y6aUr

1. Nuynt qpuyny wwywhnyyuwo Juplwjhl
wwpunwynpnipjniGGhpp dwpkijnig hnn gpujunpjuo nuljjw 200 nnuid (4 opduw hurdwp)

hnbph b wwh plnn G wnwybkjugnilp gpuyh qGwhwnmywo wpdtiph swihny

2. Qpuyjunpywo qnyph thnihnfunpm G

2.1 Gpujunpyuo gnijpp Ukl wyp qnypny thnfuwph Gt
(qpujunpbint) hwiwdw jGnipjwl mpudwnpnud** 30000 << ppuid

2.2 Jwnplwjhl wuwpmwynpnipyniGGtiph qony tpwfuwynp
hwnhuwgnn wGahG vty w)) bpwfuwynpny thnfuwphlbne 10 000 £ nud
Juwd bpuwpfuwynpnipjwl wywjdw Gwgph nunupbgiwb g
Ytpwptipjw) hwdwdw)lnipjul mpuiwnpnud**

2.3 JwpyuwjhG ywpwwynpnipjntGGtph nhiwg dtyhg wytijh
qnuptin gpuifunnywo (hGbne ghwpmd gnyptph dh dwuh
Guwwuniwdp qpuyh hpwynilph punuptgiwl

hwiwdw Gnpjwl mpudwnpnu**

30 000 << npnud’ jnipwpwlysnip gnijph hwiwn

2.4 Gpujunpjwo gniypnp Jupdwwnipjwl
(Gapwjwpdwyuwinipjul, wGhwwnnyg oguwgnpodiw ) Jud
hwjwumwnpdwgpujhG yuewywpdwl hw(dGtne
hwidwdw)Gnipjuwl mpuwdwnpnud**

10 000 << npud

2.5 Gpuyh wowpluwjh uithwwGwwumhpng thnthnfunipjw,
qnuyunnjud gniypn onwnbint (wjn pynud onwnbijnt L 50 000 22 s

hwonpnnn qnwyh pnypunynipjwl shwdwiwlwly)
hwdwdw)lnipjul mpwiwnpnud**

2.6 Jwpuwyhl ywpwwynpnipjmGatph wuywhnyjwontp il

hwnhwugnn gniyph Ytpwpbipju hwenpmnn gpuh wldwn
hwidwdwjinipjul mpuiwunpnid

2.7 Gpujunpjuwd wwnpd gniyph hwugtinud Gnp wia

(whdwlg) hwyyunbnt hwiwdwjlinipjul mpudwnponud** 3000 23 npuid” ympupwilynip wéh hudup

2.8 Gpujunpjud wwpd gniph utithwwlinpju i
JYyuwjwlwind thnthnfunipjniG Juwumwpbnt hwdwdw)inipju
nnpwiwnpnid, wjn pynd gpuyjunpjuo wiywnpd gniypn
wnw(dhl shwynpltph pwdwbne ud dh pwlh qniyptip
dhwynpbnt hwdwdw)jGnipjul mpudiwnpnd (pugunnipjudp
pGuytith wGwnpd qniyph junniguwundwl Guuwwunuyny
npwiwnpyuwo Juplyh wwywhnyniiG hwinhuwgnn
Junniguyuwmniwl tipwlw wG)wnd qniyph utithwlwlGnpjwb
JYyuwjwlwlnd thnthnfunipjnil uumwpbnt hwiwdw)inpjwud

20 000 << o

npwiwnpiwl)**

2.9 Gpujunpjud mpwGuwynpunuwhG dhengh hwyqundwb 20 000 << npwd

Jyuwjwqgnh, whmhwdiwpwGhoh L ubthwuwinipjub dty thnthnfunipjudp yuwjdwGwynpgwo djnu
Jyuwywywbh thnthnfudw6/thnfuwnphGiwl hwdwéw)Gnipjub thnthnfunipjniGGtph/thnfuwphGnuiGiph hwdwn
npwiwnpnu** uwhiwijwo vwlwughbp sh qubaynid

3. Jupluyhl wuydwGugnph wuyydwGGaph inthnfumpym G




3.1 Jwplwnnith niiinuing dwplwjhl wwjdwlwgqnpny
(wpwwnbuwo dwpiwb YJupgGudwiltunhp tpjupwagni,
dwyn gniiwph Jdwpdwl dwdwGwluwgnyygh thnthnfunipniG,
pwgwnnipjudp 3.2 U 3.3 Yhnbtpnd G)Jwo nhiwplph**

1) dhGsk 2 000 000 << npwd yuwjwiwlwgpujhG gnuiwpny
Junlwjhl wwpwwynpoipjniGGtph qony’
10 000 << npud
2) 2 000 000 << npwihg wybk; wwjwiwGwgpujhG
qnuiwnny JupywjhlG wuwpmwynpmpjniGGph qony’
20 000 << npud

3.2 UhllnyyG wiugw plpwgpnid ydwpdwl opdw
wmtinwihnfuiwdp yuwjdwlwdnpyuwo JupluhG
wuwnuwynpnipjul dwiwlGwlywgnyygh thnthnfunipjn G**

1) dhGsl 500 000 << npud wwjwiwGuwgpuyhG gnidwpny
JupyuwjhlG wuwpmwynpmpjmGGtph qony’
1 000 << npuni
2) 500 000 << nnuihg wyt] wuwjwiwlwgpwihl gmiwpny
Junlwjhl wwpwwynpoipjniGGtph qony’
5 000 4< npwd

3.3 JwpyuwjhG yupunwynpnipjuwl Junudwd dwpniing
wwjiwlynpywo dwiwlwlwgnyygh thnthnfunipyniG, tpp
Junudwd dwpjwd gnidwphl hwiwdwubnpbb Guqtgynid £
wiuwuwl JewpnuiGtiph swihp yuwd GJugbgymd & Juplh
Jwniwl dwilbup

wiydwn

4. Qwdwfunpnh nhintdh hwdwdw)d AwGyh Ynndhg
JupluwyhG dhonglGtiph npwiwnpdwl ywpumwynpnipjwb
unw(divw Ypwpbpju) hwdwdw)inipjul mpudwnpnod**

20 000 X< npud

*JwnpuyhG gnpowntnipniGGtph hpuywlGwgdiwl ppewlwyitipnid dwwnnigynn hhdGuwlwl ownwynipjniGatph
uwuqbtpp GQupugpuo GG Jupyjuwnbuwlp jupguynpnn mbntjunyuywb withnthwgpbpnud

** UwlwghGp Gipuwnmd k TUL-G:




